&

CABLE TRA

LINE &

SUPPORTS




=

[

e

ST TR SR O A

o=

> opissg bt

reymal

v

=



w

w w —_
& = > =
A RN w N w
o S oo

ELEKTRIK

CONTENTS

Ceiling Mounting Fittings, Support Extension Units (PRE-GALVANIZED)
Tray Supports (PRE-GALVANIZED)

Tray Supports With Threaded Rods (PRE-GALVANIZED)
Tray Supports (PRE-GALVANIZED)

Universal Support Fittings (PRE-GALVANIZED)

Ceiling Mounting Fittings (HOT DIP GALVANIZED)

Support Extension Sections (HOT DIP GALVANIZED)

Heavy Duty Supports (HOT DIP GALVANIZED)

Tray Supports With Threaded Rods (HOT DIP GALVANIZED)
Tray Supports (HOT DIP GALVANIZED)

Heavy Duty Supports (HOT DIP GALVANIZED)

Tray Supports (HOT DIP GALVANIZED)

Universal Supports (HOT DIP GALVANIZED)

Grounding Components

BRA Cable Clamp

Piping System

Universal Support Fittings (HOT DIP GALVANIZED)

Sample Support Applications



ELEKTRIK

»» CEILING MOUNTING FITTINGS
Pre-galvanized (TS EN 10143)

T  Weight  Order

Description mm  Gohe)  Code

7
S

9x¢14
O

TMP 6 Ceiling Mounting Fittings 2 0,269 99190P

47
2
T=2mm
90
o)
OOL @105 @11 ‘
ﬂcbpé ik
TMP 6 7 28 \
56
»» SUPPORT EXTENSION UNITS
Pre-galvanized (TS EN 10143)
ASU 2A ASU 2A
ot L T  Weight  Order . .
Description @ @m e Code e e «4OﬂJomtT’[285k
ASU 1A-1 135 2 0,089 99532P i [ | 7
ASU 1A-2 250 2 0,177 99531P @1 0*25 O ©
H5
ASU 1A-3 500 2 0,355 99530P @ ij O 0
ASU 1A-4 1000 2 0,709 99529 ! ﬂ@\k L o a5 1 fo%*?ﬁl_ -
157
ASU 2A-1 135 2 0,179 99536P 7 | |
ASU 2A-2 250 2 0,363 99535P @ o & o 0
ASU 2A-3 500 2 0,727 99534P @ | 0 T )
ASU 2A-4 1000 2 1,454  99533P —
ASU 2A-5 2000 2 2,908 97043P 46
ASU 2A-Joint Unit 135 2 0,164 91623P h ﬁim
Z o
/&__/70
1B ‘
A
|
%
; B
|
\ L
!
1 /AS
A
ASU 1A ASU 2A
ASU 2A Joint Unit
M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



ELEKTRIK

»» TRAY SUPPORT
Pre-galvanized (TS EN 10143)

A T  Weight Order

Description e e Code
4 AT2 050 50 2 0,090 99508P TVP 1
~
"bo\_
Y, AT 2

‘Ia2

=

X1SS

»» “T” SYSTEMS TRAY SUPPORTS
Pre-galvanized (TS EN 10143)

AT  Weight Order

Description mm  @m)  (kg/Sed Code
4 AT2 100 97 2 0,232 99507P
4 AT2 150 147 2 0,279  99506P
4 AT2 200 197 2 0,326  99505P
6 AT2 100 97 2 0,241  98711P
6 AT2 150 147 2 0,288 98710P
6 AT2 200 197 2 0,336  99504P

AT 2

»» TRAY SUPPORT
Pre-galvanized (TS EN 10143)

H A T  Weight  Order

Description (mm)  (mm) (mm)  (kg./pc) Code

Omega Console1 40 100 2 0,150 90522P
Omega Console2 40 200 2 0,205 90568P
Omega Console 3 40 300 2 0,262 90569P

M Please indicate order code in your orders.
B Please contact us for special modules. W Material weights can be variable =%10



ELEKTRIK

»» TRAY SUPPORTS WITH THREADED RODS
Pre-galvanized (TS EN 10143)

Description (mAm) (n]'m) ‘9{3' p'c')t %def
AT3 050 50 1,5 0,074 98735P
AT3 100 100 1,5 0,100 98734P
AT3 150 150 1,5 0,126 98733P
AT3 200 200 1,5 0,151 98732P
AT3 250 250 1,5 0,172 98731P
AT3 300 300 1,5 0,197 98730P
AT4 050 125 2 0,130  94960P
AT4 100 175 2 0,183  94959P
AT4 150 225 2 0,237  94958P
AT4 200 275 2 0,291  94957P
AT4 250 325 2 0,344  94956P
AT4 300 375 2 0,398 94955P
AT4 400 475 2 0,510 94954P
AT4 500 Do | 2 0,622 94953P
AT4 600 675 2 0,735 67877P
AT4 1000 1075 2 1,177  94952P

»» TRAY SUPPORTS WITH THREADED RODS
Pre-galvanized (TS EN 10143)

L T L  Weight Order

Description mm @) (KgJm) Code
LPB 1000 2 1000 0,978 62416P
LPB 2000 2 2000 1,958 62417P
LPB 3000 2 3000 2,938 62418P

»» TRAY SUPPORTS WITH THREADED RODS
Pre-galvanized (TS EN 10143)

Description NG (PR e (();2:1‘:

040 AT5 100 25 91 0,090 91123P
040 AT5 200 25 191 0,155 91124P
040 AT5 300 25 291 0,225 91125P
060 AT5 100 25 91 0,106 91126P
060 AT5 200 25 191 0,175 91127P
060 AT5 300 25 291 0,245 91128P

M Please indicate order code in your orders.

M Please contact us for special modules.

e
AT4 / \. /}\

W Material weights can be variable +%10

_



ELEKTRIK

»» TRAY SUPPORTS
Pre-galvanized (TS EN 10143)

A T  Weight  Order

Description mm @m) (koo Code

KT 050 90 2 0,200 99528P

KT 100 140 2 0,281 99527P

KT 150 190 2 0,361 99526P

KT 200 240 2 0,442 99525P

KT 250 290 2 0,522 99524P

KT 300 340 2 0,603 99523P

KT 400 440 2 0,764 99522P

KT 500 540 2 0,925 99521P

KT 600 640 2 1,086 98715P

TS 050 55 2 0,163 99520P

TS 100 1056 2 0,221 99519P ]

T8 150 155 2 0279 99518P ::Iolrsg;gglsl?;:in?(; use single coupling unit for A dimensions between 90 and 240.

TS 200 205 2 0,287 99517P It is suggested to use two (2) coupling units for A dimensions between 290 and 640.

TS 250 255 2 0,478 99516P

TS 300 305 2 0,556 99515P

TS 400 405 2 0,682 99514P

TS 500 505 2 0,888 99513P

TS 600 605 2 1,083 67876P

\
TMP 6 8 215
o oot ol
M8 Washer 07 4
M8 Nut E
ot !
Wall type 40—

‘/;:;Iing

w o ¢ ¥ ¢ ¥ ¥ F ¢ v v e F

- # F F e e ¥ F S e

ASU 2A

M Please indicate order code in your orders.
M Please contact us for special modules. W Material weights can be variable %10



ELEKTRIK

P> UNIVERSAL SUPPORT FITTINGS
Pre-galvanized (TS EN 10143)

c T  Weight  Order

Description om  m (e Code .;.
US 1050 80 2 0,505 95950P 3y
Us 1100 130 2 0,558 95951P L]
US 1150 180 2 0,611 95952P '
US 1200 230 2 0,664 95953P :
US 1250 280 2 0,717 95954P \
US 1300 330 2 0,770 95955P )

130
/\
260
7\\ 1 QOO QDD OO
c |

P> UNIVERSAL SUPPORT FITTINGS
Pre-galvanized (TS EN 10143)

¢ T  Weight Order

Description mm  mm (e Code
US 2050 80 2 0226 95956P
US 2100 130 2 0279 95957P
US 2150 180 2 0,332 95058P
US 2200 230 2 0,386 95959P
US 2250 280 2 0,440 95060P
US 2300 330 2 0493 95061P
130
\\ ] (S O,00,00,00,00,00,00,08,00,09,
c \

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



ELEKTRIK

us

>
<2 -— 130 —
»» UNIVERSAL SUPPORT FITTINGS L P < N
Pre-galvanized (TS EN 10143) : PR 1
.. b T  Weight Order o
OS5 (mm m)  Gg/eo  Code .
US 3300 380 2 0548 95963P : b
US 3400 480 2 0,655 095064P ‘
US 3500 580 2 0,762 95065P )
US 3600 680 2 0,869 95066P [ i
uS 3700 780 2 0977 95067P )
US 3800 980 2 1,084 95968P :
|
. i
‘ ; = \ - |
Z
»» UNIVERSAL SUPPORT FITTINGS
Pre-galvanized (TS EN 10143)
inti b T  Weight  Order
Description m | @m | Gop9 | Code us
US 4100 100 2 0322 95960P
US 4200 200 2 0,429 95970P
US 4300 300 2 0536 95971P
US 4400 400 2 0,644 95972P
US 4500 500 2 0,751 95973P
\‘47 100 —
b

MHIIININIMT

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10




ELEKTRIK

P> UNIVERSAL SUPPORT FITTINGS
Pre-galvanized (TS EN 10143)

a T  Weight  Order

Description (mm)  mm) (ke Code
US 5300 300 2 0322 95974p
US 5400 400 2 0429 95975P
US 5500 500 2 0536 95976P
US 5600 600 2 0644 95977P
us
US 5800 800 2 0864 95978P
, ~
US 5900 90 2 0972 95979p ~ >

M Please indicate order code in your orders.
M Please contact us for special modules. W Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» CEILING MOUNTING FITTINGS ‘
Hot Dip Galvanized After Fabrication (TS 914 - ISO EN 1461) 71— ‘

L T  Weight  Order

Description o | o | G Code O
TMP 1 Ceiling Support Unit 135 2 0,235 972748 L
- - D 290
TMP 1 Ceiling Support Unit 250 2 0,320 972738
TMP 1 Ceiling Support Unit 500 2 0,508 972728 |
12,5
TMP41 Ceiling Support Unit 135 2 0,322 975068 T
TMP42 Ceiling Support Unit 250 2 0,492 975078
TMP43 Ceiling Support Unit 500 2 0,865 975088
TMP44 Ceiling Support Unit 1000 2 1,947 975098 -
TMP45 Ceiling Support Unit 2000 2 3,436 949718 ’
i
|
11
—
| 100 | 2,51
‘ "-7 71 4—‘ ‘ T @ L o
@9 O (Q 211 O T " | %
O
11x15 O ox15 11x15© 23 7 ‘@\R T — s
L O
o11-—C) LQ 29 () J @Ifﬁ
@ O—- 295
f
e | U O
N - s
7
4]
- T @
Ll
O
-~
2 155 @ j ~— 14
_ 1725 _ @ — 15 O
I T
< O O o O O 098
3 O 15x35\O O 08 @ O
” — 11 L
» O
L] O -0 ) O+— 4‘9 7
) O
12x20
S o
» 46 % 25
. el G 1
& P4 TJE 7"’ O O
TMP 45 46— s

M Please indicate order code in your orders.
B Please contact us for special modules. W Material weights can be variable +%10



ELEKTRIK

HOT DIP GALVANIZED

»» CEILING MOUNTING FITTINGS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

P T  Weight  Order

Description i | s Code
TMP 5 Ceiling Support Unit 4 0441 991898
TMP 6 Ceiling Support Unit 2 0,269 991908
TMP 6 Ceiling Support Unit 4 0,850 900908

y 9Xi14

90

@10,5 911

deﬁéz,SQ

T es

M Please indicate order code in your orders.
M Please contact us for special modules.

150

— 25

50

50

25 —

14x20

()

l
g |
@TT

— 13
G
O

L g5 |

W Material weights can be variable +%10




HOT DIP GALVANIZED

»» CEILING MOUNTING FITTINGS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

T  Weight  Order

Description (mm)  Kebe)  Code
TMP 7 Ceiling Support Unit 2 1,094 991958
TMP 8 Ceiling Support Unit 2 0,694 991968
TMP 8

—*

TMP 7

%
(W I
T |

©

M Please indicate order code in your orders.
M Please contact us for special modules.

ELEKTRIK

75— |
105

12
f@‘@@

~
(6]

|25

O (s

g5 L

190

150

C D
90
130

100

25— 50 —

W Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» CEILING MOUNTING FITTINGS | e ‘
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461) / 1 1
it T  Weight  Order 13— () C ) O
Description (mm) (kg./%c) Code jﬁr ‘ 106 ‘ o1
TMP 9 Ceiling Support Unit 4 1,155 99201S £© O 1 0x35«U o @ S8
TMP10 Ceiling Support Unit 4 1,119 948208 F
213
@11 ——
\O @ / ]
TMP 9 . ‘ §
\.
o _ 0
N N 2l ] F
w 7,5
f
- | 9
T o O—-
2 (8}
o
190
‘ 150 ‘
[ [
e O o
jﬁr ‘ 106 ‘ @11
] Owel | O] a8
30 () 10x35— O 8@
TMP 10 m Pl
o1 ~——
1T
o
N 2
e i

\@@Q/

90

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



»» SUPPORT EXTENSION UNITS

Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

Description (ml'm) (Jm) ‘xg',ggt %L‘g

ASU 1A-1 135 2 0,103 995328

ASU 1A-2 250 2 0,188 995318

ASU 1A-3 500 2 0,376 995308

ASU 1A-4 1000 2 0,753 995298

ASU 2A-1 135 2 0,222 995368

ASU 2A-2 250 2 0,410 995358

ASU 2A-3 500 2 0,819 995348

ASU 2A-4 1000 2 1,638 99533S

ASU 2A-5 2000 2 3,276 97043S

ASU 2A-Joint Unit 135 2 0,170 916238
"U" Ceiling Mounting Fitting 4 0,145 040348
"L" Ceiling Mounting Fitting 4 0,093 040338

"U" Ceiling mounting fitting

ASU1A

M Please indicate order code in your orders.

"L" Ceiling mounting fitting

ASU 2A

M Please contact us for special modules.

ASU 2A

HOT DIP GALVANIZED

ELEKTRIK

ASU 2A
46— — 315 —
A‘L I
0 o
Tls 25
| o
9, L O-t-095
7 || —1—
|
@ 25
Sanl
%1
[Te})
—2 I &
j
ASU 2A
Joint Unit
‘« 40 *‘ —1 28,5 [—
0 O
O O
12 f@hﬁ7'5135 O
o 0
25
O T O
01
[Te}
1. |8
j
Joint Unit ASU 2A

W Material weights can be variable =%10



ELEKTRIK

»» TRAY SUPPORTS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

HOT DIP GALVANIZED

A A T  Weight  Order
Description mm om) (ka/po) Code
AT1 050 50 2 0,181 995128
AT1 100 100 2 0,210 995118
AT1 150 150 2 0,239 995108
AT1 200 200 2 0,268 995098
4 AT2 050 50 2 0,090 995088
4 AT2 100 97 2 0,232 995078
4 AT2 150 147 2 0,279 995068
4 AT2 200 197 2 0,326 995058
6 AT2 100 97 2 0,241 987118
6 AT2 150 147 2 0,288 987108
6 AT2 200 197 2 0,336 995048
~
«29\
N AT2
2
9,
132
P
—
7,
X1Gx$
AT 2
~
rz>°\
N
///// A
™~
-

>~

»» TRAY SUPPORTS
Hot Dip Galvanized (TS 914 EN ISO 1461)

Description

(mm) (mm)

A

Omega Console1 40 100

T  Weight  Order
(mm)  (Kg./pc) Code

2 0,165 905228

Omega Console 2 40 200

2 0,225 905688

Omega Console 3 40 300

2 0,288 905698

M Please indicate order code in your orders.
M Please contact us for special modules.

A

TMP 1

ASU 1A

W Material weights can be variable +%10




HOT DIP GALVANIZED

»» TRAY SUPPORTS FOR THREADED RODS

Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

Description (mAm) (Jm) ‘fig'g'c')' ?;::;:
AT3 050 50 1,5 0,082 987358
AT3 100 100 1,5 0,110 987348
AT3 150 150 1,5 0,135 987338
AT3 200 200 1,5 0,161 987328
AT3 250 250 1,5 0,176 987318
AT3 300 300 1,5 0,200 987308
AT4 050 125 2 0,143 949608
AT4 100 175 2 0,202 949598
AT4 150 225 2 0,261 949588
AT4 200 275 2 0,320 949578
AT4 250 325 2 0,379 949568
AT4 300 375 2 0,438 949558
AT4 400 475 2 0,561 949548
AT4 500 Do | 2 0,684 949538
AT4 600 675 2 0,808 678778
AT4 1000 1075 2 1,295 949528

»» TRAY SUPPORTS FOR THREADED RODS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

. L. T L  Weight Order

Description mm @) (KgJm) Code
LPB 1000 2 1000 1,076 62416S
LPB 2000 2 2000 2,154 62417S
LPB 3000 2 3000 3,231 62418S

ELEKTRIK

Steel Dowel
Exstension Unit

Threaded Rod

1 pcs M8/M10 steel dowel
1 pcs M8/M10 extension unit
1 pcs M8/M10 threaded rod
2 pcs M6x12 bolt
2 pcs M6 washer nut
2 pcs M8/M10 nut
should be used.

A Threaded Rod

l

2 pcs M8/M10 threaded rod
2 pcs M6x12 bolt

2 pcs M6 washer nut

4 pcs M8/M10 nut

should be used.

2 pcs M6x12 bolt
2 pcs M6 washer nut
4 pcs M10/M12 nut
should be used.

M Please indicate order code in your orders.
M Please contact us for special modules.

W Material weights can be variable =%10



HOT DIP GALVANIZED

ELEKTRIK

»»TRAY SUPPORTS
Hot Dip Galvanized (TS 914 EN IS0 1461)

A T  Weight Order

Description G Code

KT 050 90 2 0,220 995288

KT 100 140 2 0,309 995278

KT 150 190 2 0,397 995268

KT 200 240 2 0,486 995258

KT 250 290 2 0,575 995248

KT 300 340 2 0,663 995238

KT 400 440 2 0,841 995228

KT 500 540 2 1,018 995218

KT 600 640 2 1,195 987158

TS 050 50 2 0,116 995208 For KT Mounting;

LALL 105 2 0182 005188 e o uee o (2) coupling unis fo A imonsion betwen 200 and 640

TS 150 155 2 0,280 995188

TS 200 205 2 0,320 995178

TS 250 255 2 0,485 995168

TS 300 305 2 0,598 995158

TS 400 405 2 0,741 995148

TS 500 505 2 0,915 995138

TS 600 605 2 1,120 678768

\
TMP 6 8 215
B 120
o 208 ;
M8 Washer o7 |
M8 Nut ;iig
1911 f
Wall Type ~—40—

~

Coupling

w # ¥ ¥ ¥ ¢ ¥ v

- # F F e e ¥ F S e

ASU 2A

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» TRAY SUPPORTS
Hot Dip Galvanized (TS 914 EN SO 1461)

A T Weight Order

Description (m  m)  Gose)  Code

STK 100 120 2 0,363 973718

STK 150 170 2 0,424 96302S

STK 200 220 2 0,484 987558

STK 250 270 2 0,998 987548

STK 300 320 2 1,080 987538

STK 400 420 2 1,245 987528

STK 500 520 2 1,410 987518

STK 600 620 2 1,575 987508

* STK type supports are supplied as a set.
11x16

RIE
e

IDD
250-300-400-500-600 STK set;

2 M10x30 Bolt,

2 M10 Nut,

4 M10 Washer,

2 Spring Washer

and 2 connection parts should be used.

100-150-200 STK set;

1 M8x20 Bolt,

1 M8 Nut,

2 M8 Washer,

1 Spring Washer

and 1 connection parts should be used.

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» TRAY SUPPORTS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

T  Weight  Order

Description mm  mm) (ke/po) Code
STS 100 120 2 0,701 95918S
STS 150 170 2 0,762 959198
STS 200 220 2 0,823 959208
STS 250 270 2 1,112 959218
STS 300 320 2 1,194  95922S
STS 400 420 2 1,359  95923S
STS 500 520 2 1,524 959248
STS 600 620 2 1,688 959258 STS 250
STS 300
STS 400
STS 500
STS 600
A
11X16
L
83 ] ENE
Bl
STS
e
A \\K’
> STS 100
STS 150
STS 200
= [ T F9x13
o
10 |
o 83 o
12x22
-4

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» TRAY SUPPORTS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

A T  Weight  Order

Description (mm)  (mm)  (kg./pc) Code KTS \
KTS 100 140 2 0351 651908 ~ g
KTS 150 190 2 0440 651918 o
KTS 200 240 2 0529 651928 -
KTS 250 290 2 0,666 651938
KTS 300 340 2 0754 651948
KTS 400 440 2 0931 651958 S0
KTS 500 540 2 1,109 65196
KTS 600 640 2 1,286 65197S kTS 250
KTS 300
KTS 400
\‘ 8 13, KTS 500
2 KTS 600
~
T
A
(9X15
Lo
;88 &
|
L75x15
KTS
qfa

KTS 100
: KTS 150
2y KTS 200
T
o5
X
I [
23 ||%
|
7,5x15

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» TRAY SUPPORTS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

A T Weight Order

Description (mm  m  Ggpo  Code
STS-D 100 120 2 0,436 949518
STS-D 150 170 2 0,497 949508
STS-D 200 220 2 0,558 949498
STS-D 250 270 2 0,847 949488
STS-D 300 320 2 0,929 949478
STS-D 400 420 2 1,004 949468
STS-D 500 520 2 1,259 949458
STS-D 600 620 2 1,423 949448 STS-D 250
STS-D 300
Wall Type STS-D 400
STS-D 500
STS-D 600
S|4
A
11X16
]

[EAE

-

Cu®]

STS-D 100
STS-D 150
STS-D 200

9x13

50 -

O 1

130
44 -

12x22

o]

M Please indicate order code in your orders.
M Please contact us for special modules. W Material weights can be variable +%10



HOT DIP GALVANIZED

»» TRAY SUPPORTS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)
Description A~ T - Welght (()::)ddzr

KTS-D 100 140 2 0,351 65198S
KTS-D 150 190 2 0,440 651998
KTS-D 200 240 2 0,529 652008
KTS-D 250 290 2 0,666 652018
KTS-D 300 340 2 0,754 652028
KTS-D 400 440 2 0,931 652038
KTS-D 500 540 2 1,109 652048
KTS-D 600 640 2 1286 652058

M Please indicate order code in your orders.
M Please contact us for special modules.

KTS-D

ELEKTRIK

.—zf.)
—
KTS-D 250
KTS-D 300
\‘ , KTS-D 400
1 KTS-D 500
Wall Type 8 ‘ 2y KTS-D 600
\
“-4
A
( 9x15
[o0)
[aV]
7,5x15

KTS-D

(7/0_)
—

KTS-D 100
\‘ KTS-D 150
KTS-D 200

~4

A
” 9x15

130
— 60—

%

7,5x15

W Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» HEAVY DUTY SUPPORTS (1)
Hot Dip Galvanized (TS 914 EN IS0 1461)

L Weight  Order

Description o) (oo Code
IDY 300 300 1,700 975168
IDY 400 400 2,240 987498
IDY 500 500 2,800 987488
IDY 600 600 3,360 987478
IDY 700 700 4,100 987468
IDY 800 800 4,488 987458
IDY 900 900 5,000 987448

IDY 1000 1000 5,560 987438
IDY 1100 1100 6,160 987428
IDY 1200 1200 6,720 987418
IDY 1300 1300 7,280 975108
IDY 1400 1400 7,840 987408
IDY 1500 1500 8,400 987398
IDY 1600 1600 8,960 975158
IDY 1700 1700 9,520 975148
DY 1800 1800 10,080 975138
DY 1900 1900 10,640 975128
IDY 2000 2000 11,000 975118

Set of IDT consists; e .
2 pesIDT support fitting ol -y T,

4 pcs M10x30 bolt il - . IDK
8 pcs M10 washer IDK Washera
4 pcs M10 spring washer
4 pcs M10 nut
should be used.

IDY

o 12 STK

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» HEAVY DUTY SUPPORTS (1)
Hot Dip Galvanized After Fabrication (TS 914 EN ISO 1461)

Description (ml'm) V(\Il(g;ggt (();:ﬂ;:
IDD 300 300 2,490 987738
IDD 400 400 3,170 987728
IDD 500 500 3,820 987718
IDD 600 600 4,470 987708
IDD 700 700 5,130 98769S
IDD 800 800 5,670 98768S
IDD 900 900 5,810 98767S
IDD 1000 1000 6,470 98766S
IDD 1100 1100 7,508 98765S
IDD 1200 1200 8,130 98764S
IDD 1300 1300 8,720 98763S
IDD 1400 1400 9,300 98762S
IDD 1500 1500 9,870 98761S
IDD 1600 1600 10,270 98760S
IDD 1700 1700 10,640 987598
IDD 1800 1800 11,070 98758S
IDD 1900 1900 11,385 98757S
IDD 2000 2000 11,770 987568

STK Connection part

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» HEAVY DUTY SUPPORTS (U) upy
Hot Dip Galvanized After Fabrication (TS 914 EN 1SO 1461)

L Weight  Order

Description (m  kagb9  Code
uDY 300 300 1,900 959268
UDY 400 400 2,560 959278 24
UDY 500 500 3,252 959288 75*
UDY 600 600 3,900 959298
uDY 700 700 4,480 959308
uDY 800 800 5160 959318
uDY 900 900 5760 959328

UDY 1000 1000 6,400 959338
UDY 1100 1100 7,040 959348
UDY 1200 1200 7,680 959358
UDY 1300 1300 8,385 959368
UDY 1400 1400 8,960 959378
UDY 1500 1500 9,600 959388
UDY 1600 1600 10,240 959398
UDY 1700 1700 10,880 959408
UDY 1800 1800 11,520 959418
UDY 1900 1900 12,160 959428
UDY 2000 2000 12,600 959438

TMP 5
Mounting
Unit

65

g

upy

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10

A




HOT DIP GALVANIZED

ELEKTRIK

»» HEAVY DUTY SUPPORTS (U)
Hot Dip Galvanized After Fabrication (TS 914 EN 1SO 1461)

L  Weight  Order

Description ol e Code

UDYB 300 300 2,280 958908
UDYB 400 400 3,100 958918

UDYB 500 500 3,800 958928
UDYB 600 600 4,400 958938
UDYB 700 700 5,000 958948
UDYB 800 800 5,400 958958

UDYB 900 900 6,300 958968
UDYB 1000 1000 6,700 958978

ubb 300 300 2,770 959008
ubD 400 400 3,470 959018
ubb 500 500 4,020 959028
UDD 600 600 4,570 959038
UbD 700 700 5,370 959048
UDD 800 800 5,870 959058
ubb 900 900 6,670 959068

uDD 1000 1000 7,270 959078
uDD 1100 1100 7,970 959088
uDD 1200 1200 8,670 959098
uDD 1300 1300 9,370 959108
UDD 1400 1400 9,870 959118
UDD 1500 1500 10,920 959128
UDD 1600 1600 11,470 959138
UDD 1700 1700 12,170 959148
UDD 1800 1800 12,870 959158
UDD 1900 1900 13,170 959168
uDD 2000 2000 13,670 959178

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» HEAVY DUTY SUPPORTS (U)
Hot Dip Galvanized (TS 914 EN 1S0 1461)

T L  Weight  Order

Description o e e Code

UPY 300 3 300 0,911 650658

UPY 400 3 400 1,215 650678

UPY 500 3 500 1,518 650698

UPY 600 3 600 1,822 650718

UPY 700 3 700 2,126 650738

UPY 800 3 800 2,429 650748

UPY 900 3 900 2,733 650758

UPY 1000 3 1000 3,037 65076S

UPY 1100 3 1100 3,340 65077S

UPY 1200 3 1200 3,644 65078S

UPY 1300 3 1300 3,948 650798

UPY 1400 3 1400 4,251 650808

UPY 1500 3 1500 4,555 650818

UPY 1600 3 1600 4,859 650828

UPY 1700 3 1700 5,162 650838

UPY 1800 3 1800 5,466 650848

UPY 1900 3 1900 5,770 650858

UPY 2000 3 2000 6,073 650868

UPY 3000 3 3000 9,110 624108

UPY 300 4 300 1,183 651328

UPY 400 4 400 1,578 651348

UPY 500 4 500 1,972 651368

UPY 600 4 600 2,367 651388

UPY 700 4 700 2,761 651408 TMP 5.

Mounting

UPY 800 4 800 3,156 651418 Unit
UPY 900 4 900 3,550 651428

UPY 1000 4 1000 3,945 651438

UPY 1100 4 1100 4,339 651448

UPY 1200 4 1200 4,734 651458 @
UPY 1300 4 1300 5,128 651468 ﬁ
UPY 1400 4 1400 5,523 651478

UPY 1500 4 1500 5,917 651488

UPY 1600 4 1600 6,312 651498

UPY 1700 4 1700 6,706 651508

UPY 1800 4 1800 7,101 651518

UPY 1900 4 1900 7,495 651528

UPY 2000 4 2000 7,890 651538

UPY 3000 4 3000 11,834 624118

M Please indicate order code in your orders. M Please contact us for special modules.



HOT DIP GALVANIZED

EAE

»» HEAVY DUTY SUPPORTS (L)
Hot Dip Galvanized (TS 914 EN ISO 1461)

Description T L Weight Order

(mm)  (mm)  (kg/pc) Code
LPY 500 3 500 1,518 650568
LPY 1000 3 1000 3,037 65057S
LPY 1500 3 1500 4,555 65058S
LPY 2000 3 2000 6,073 650598
LPY 3000 3 3000 9,110 624128
LPY 500 4 500 1,972 651238
LPY 1000 4 1000 3,945 651248
LPY 1500 4 1500 5917 651258
LPY 2000 4 2000 7,890 651268
LPY 3000 4 3000 11,834 624138

»» HEAVY DUTY SUPPORTS (Z)
Hot Dip Galvanized (TS 914 EN IS0 1461)

T L Weight  Order

Description mm  (mm)  (kg/po) Code
ZPY 500 3 500 1,518 650608
ZPY 1000 3 1000 3,037 65061S
ZPY 1500 3 1500 4,555 650628
ZPY 2000 3 2000 6,073 65063S
ZPY 3000 3 3000 9,110 624148
ZPY 500 4 500 1,972 651278
ZPY 1000 4 1000 3,945 651288
ZPY 1500 4 1500 5,917 651298
ZPY 2000 4 2000 7,890 651308
ZPY 3000 4 3000 11,834 624158

P> HEAVY DUTY SUPPORTS (L)
Hot Dip Galvanized (TS 914 EN IS0 1461)

T L Weight  Order

Description mm m)  (kalpo) Code
LPB 1000 3 1000 1,932 65208S
LPB 2000 3 2000 3,865 652108
LPB 3000 3 3000 5,797 652118
LPB 1000 4 1000 2,576 652138
LPB 2000 4 2000 5,153 652158
LPB 3000 4 3000 7,730 652168

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» HEAVY DUTY SUPPORTS (U)
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

L Weight  Order

Description (m kb9 Code
UPYB 300 300 1,931 651788
UPYB 400 400 2,326 651808
UPYB 500 500 2,720 651828
UPYB 600 600 3,115 651848
UPYB 700 700 3,509 651868
UPYB 800 800 3,903 651878
UPYB 900 900 4,298 651888
UPYB 1000 1000 4,692 651898
UPD 300 300 1,957 651558
UPD 400 400 2,352 651578
UPD 500 500 2,746 651598
UPD 600 600 3,141 651618
UPD 700 700 3,535 651638
UPD 800 800 3,930 651648
UPD 900 900 4,324 651658

UPD 1000 1000 4,719 651668
UPD 1100 1100 5,113 651678
UPD 1200 1200 5,508 651688
UPD 1300 1300 5,902 651698
UPD 1400 1400 6,296 651708
UPD 1500 1500 6,691 651718
UPD 1600 1600 7,085 651728
UPD 1700 1700 7,480 651738
UPD 1800 1800 7,874 651748
UPD 1900 1900 8,269 651758
UPD 2000 2000 8,663 651768

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



ELEKTRIK

ITP

IDT
W Material weights can be variable = % 10

a
Ll
N
p—
—
|
S
oo o
— ..nnv.u
»n %)
(=] S ® 5o = | £
Es ™ 2= o|©T
- O M~ - O [—) =
- TR = & oo e 8
© o
<
o z ©
=3 o = w | 2 ¢
= £% a| = £3 2|<¢
=S © o =< o W.I
o - — (=) % 0
== o s =% -~ a5
= 8 = E e ¢
o z - © = © T B
MI.. Lol = < .W M = = < m% N%
o o o o= 5 =
2] D [Z] 25 e g
S =S > = C S S ~ | o2 £ £
= 2] =9 = Sl So > S
=< = <= = 9 © 2 = ©
-5 = = = -5 = ] <* g 3
Ts = = o Ts = x .S.m - P
 — = [N — D =
=2 & E| Iy E2[E Z|:f
= = = c = = Ll I o 3
c® & 35|Bsd 8 e o2t @ >
— 17 =% = = L = [CRN0] 58
o= @ 2| c o o= @ =] o 2 =
as o sl c5o oS o = IR =S
= »w | oQc = S|To 2 S
&S = | =85 &S S| o > o
= S alos% = S = | c . @ o
7N = - = 0 [7- =% o 2 @
= — o = a =] S s
>D Ok ~ >D - o B 2 D
1= 323 s =l osa o o
A= R A= zZ EE




HOT DIP GALVANIZED

ELEKTRIK

IDK IDY
Joint Fitting

»» SUPPORT FITTINGS
Hot Dip Galvanized (TS 914 EN IS0 1461)
Description L %2:;:
IDK Support Fitting 5 0,226 987378
IDK Joint Fitting 2,5 0,080 900268
1-80 I Section Expansion Fitting 3 0,345 975008
U-65 U Section Expansion Fitting 3 0,360 91624S
IDY Protection Cover - - 05922
UDY Protection Cover - - 05923
TP 1 Fixing Part 25 0,058 916388
TP 2 Fixing Part 4 0,093 900948
Purlin Pendant 5 0,305 03864

W For installation of 1-80 and U-65 and UPY console joint unit; 4 units M10x30 bolt, 4 units M10 nut and 4 units 810 washer shall be ordered.

L 3 30 3

IDY Protection Cover

IDK Joint Fitting

M Please indicate order code in your orders.
W Please contact us for special modules.

U-65 Joint

uny UPY

UDY Protection Cover UDY Protection Cover

TP1 Purlin Pendant




a
Ll
N
—
=T
=
—
=T
S
o
a
-
o
o

ELEKTRIK

»» UNIVERSAL SUPPORTS

Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

Order
Code

Weight
(kg/pc)

T
(mm)

L
(mm)

Description

951218
951228
95123S
951248
951258
95126S
95127S
95128S
951298
951308
951318
951328
95133S
951348
951358
951368
951378
95138S

1,560
1,910

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2

300
400
B

6
7

PDD 300

PDD 400

2,370

0
0

0
0

PDD 500

2,790
3,000

PDD 600

00

PDD 700

3,470

3
3

800
9

PDD 800

510

00

PDD 900

970

1000
1100
1200
1300
1400
1500
1600
1700
1800
1900
2000

PDD 1000
PDD 1100
PDD 1200
PDD 1300
PDD 1400
PDD 1500
PDD 1600
PDD 1700
PDD 1800
PDD 1900
PDD 2000

4,505

4,850

5,016

5,310

5,670

5,950

6,220

6,480

6,820

7,170

2

t« o /f/ . 3

ﬁogog

42

+
4
Jd

—l-2

josos

& L i
SRR Y
NS 5
& A

W

PDD

g0

T
42
L

Lsoso

e W

M Please indicate order code in your orders.
M Please contact us for special modules.

W Material weights can be variable +%10




HOT DIP GALVANIZED

ELEKTRIK

»» UNIVERSAL SUPPORTS
Hot Dip Galvanized After Fabrication (TS 914 EN IS0 1461)

Description T  Weight  Order

(mm)  (mm)  (kg/pc) Code
PDDB 300 300 2 1,400 951398
PDDB 400 400 2 1,800 951408
PDDB 500 500 2 2,175 951418
PDDB 600 600 2 2,490 951428
PDDB 700 700 2 2,800 951438
PDDB 800 800 2 3,040 951448
PDDB 900 900 2 3,240 951458
PDDB 1000 1000 2 3,400 951468

E I S U T S T T R TR R T R B RN R RN RN R
» 2 2 £ ¥ ¥ % 7 2 2 2 % 2 ¥ & % £ ¥ & B YL X

r v oo

PDD

LA B A R

B
;]
%
&
»

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

»» UNIVERSAL SUPPORTS
Hot Dip Galvanized (TS 914 EN SO 1461)
inti L T Weight Order
EGH A mm  mm (o) Code
UAS-K4 SUPPORT (1) 200 4 0,445 67136S
UAS-K4 SUPPORT (2) 250 4 0,572 67135S
UAS-K4 SUPPORT (3) 300 4 0,699 671348
UAS-K4 SUPPORT (4) 350 4 0,826 67133S
UAS-K4 SUPPORT (5) 400 4 0,953 671328 L
UAS-K4 SUPPORT (6) 500 4 1,207 671318 | A | 40
| —1
- !
UAS-K4 SUPPORT (7) 600 4 1,461 671308 22ﬁ© \ OO OO \ - A L 20
UAS-K4 SUPPORT (8) 700 4 1,715 671298 50 i 5 13l27 -
X
UAS-K4 SUPPORT (9) 1100 4 2,541 671288
A=Cable tray width
»» UNIVERSAL SUPPORTS
Hot Dip Galvanized (TS 914 EN 1SO 1461)
P L T Weight Order
Description o) () kalpo) Code
UAS-K5 SUPPORT (1) 200 5 0,693 671278
UAS-K5 SUPPORT (2) 250 5 0,891 67126S
UAS-K5 SUPPORT (3) 300 5 1,089 67125S
UAS-K5 SUPPORT (4) 350 5 1,287 671248
UAS-K5 SUPPORT (5) 400 5 1,484 67123S L
UAS-K5 SUPPORT (6) 500 5 1,880 671228 A 50
UAS-K5 SUPPORT (7) 600 5 2,276 67121S 5 [
UAS-K5 SUPPORT (8) 700 5 2,672 671208 — ‘ Q Q @ o O 15 150
UAS-K5 SUPPORT (9) 1100 5 3,959 67119S 50 50 1327

A=Cable tray width

M Please indicate order code in your orders.
B Please contact us for special modules. W Material weights can be variable = % 10



ELEKTRIK

»» UNIVERSAL SUPPORT FITTINGS (M8)

Weight ~ Order

Description (kg/pc) Code

UK-L1 Universal Support Unit (L-120) M8 0,198 97431
UK-L2 Universal Support Unit (L-240) M8 0,397 97430
UK-L3  Universal Support Unit (L-360) M8 0,595 97429
UK-L4 Universal Support Unit (L-480) M8 0,793 97428
UK-L5 Universal Support Unit (L-960) M8 1,616 97427

- Weight  Order
Description o | code

UAT1 50 cm Single Pendant Set (120) M8 0,376 97108
UAT1 100 cm Single Pendant Set (120) M8 0,504 97107
UAT1 150 cm Single Pendant Set (120) M8 0,652 97111
UAT1 200 cm Single Pendant Set (120) M8 0,800 97112
UAT2 50 cm Single Pendant Set (360) M8 0,763 97110
UAT2 100 cm Single Pendant Set (360) M8 1,021 97109
UAT2 150 cm Single Pendant Set (360) M8 1,323 97113
UAT2 200 cm Single Pendant Set (360) M8 1,618 97114

Set of UAT1 M8 consists; 2 UK-L1 Universal brocket, 1 M8 threaded rod,
2 M8 nut, 1 M8 steel dowel should be used.

Set of UAT2 M8 consists; 2 UK-L3 Universal brocket, 2 M8 threaded rod,
4 M8 nut, 2 M8 steel dowel should be used.

»» UNIVERSAL SUPPORT UNITS (M10)

Weight  Order

Description (kg/pc) Code

UK-S1 Universal Support Unit (L-120) M10 0,197 96946
UK-S2 Universal Support Unit (L-240) M10 0,395 96947
UK-S3 Universal Support Unit (L-360) M10 0,593 96948
UK-S4 Universal Support Unit (L-480) M10 0,799 96949
UK-S5 Universal Support Unit (L-960) M10 1,612 96950

- Weight  Order
Description (kg/sget) Code

UAT1 50 cm Single Pendant Set (120) M10 0,468 96957
UAT1 100 cm Single Pendant Set (120) M10 0,703 96958
UAT1 150 cm Single Pendant Set (120) M10 0,938 96954
UAT1 200 cm Single Pendant Set (120) M10 1,173 96953

UAT2 50 cm Double Pendant Set (360) M10 1,038 96955
UAT2 100 cm Double Pendant Set (360) M10 1,503 96956
UAT2 150 cm Double Pendant Set (360) M10 1,986 96952
UAT2 200 cm Double Pendant Set (360) M10 2,403 96951

Set of UAT1 M10 consists; 2 UK-S1 Universal brocket, 1 M10 threaded rod,
2 M10 nut, 1 M10 steel dowel should be used.

Set of UAT2 M10 consists; 2 UK-S3 Universal brocket, 2 M10 threaded rod,
4 M10 nut, 2 M10 steel dowel should be used.

_



ELEKTRIK

»» GROUNDING COMPONENTS

Brass Joint and

inti 2 A B D L Order .
Description MM o) mm) om om Code GI‘Ol!ndII.'Ig Connector
(Cylindrical)

Brass Joint and Grounding Connector 1 10-35 8 14 18 22 90579
Brass Joint and Grounding Connector 2  35-70 10 17 21 25 90580
Brass Joint and Grounding Connector 3 70-150 16 29 28 39 90581
Brass Joint and Grounding Connector 4 150-185 18 33 31 45 90582

»» GROUNDING COMPONENTS
Brass Joint and

inti 2 A B D L Order )
Description mm°  m mm) @m) (o) Code Grounding Connector ‘
(Hexagonal)

Brass Joint and Grounding Connector 5 10-35 8 14 18 22 90583
Brass Joint and Grounding Connector 6  35-70 10 17 21 25 90584
Brass Joint and Grounding Connector 7 70-150 16 29 28 39 90585
Brass Joint and Grounding Connector 8 150-185 18 33 31 45 90586

>
lw}

Brass Joint and
Grounding Connector

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



ELEKTRIK

»»BRA CABLE CLAMP

Description R ‘(ﬁ'ge/:)%l)“ (();2:;:
BRA 1-12 CABLE CLAMP 12 20 0,041 83589
BRA 1-16 CABLE CLAMP 16 20 0,046 98868
BRA 1-20 CABLE CLAMP 20 20 0,061 83581
BRA 1-24 CABLE CLAMP 24 20 0,065 83579
BRA 1-28 CABLE CLAMP 28 20 0,070 98866
BRA 1-32 CABLE CLAMP 32 20 0,075 83577
BRA 1-36 CABLE CLAMP 36 20 0,081 83569
BRA 1-40 CABLE CLAMP 40 30 0,087 98864
BRA 1-44 CABLE CLAMP 44 30 0,094 83567
BRA 1-48 CABLE CLAMP 48 30 0,099 83565
BRA 1-52 CABLE CLAMP 52 30 0,104 98862
BRA 1-56 CABLE CLAMP 56 30 0,109 83557 KC TRAVERSE
BRA 1-60 CABLE CLAMP 60 30 0,114 83555
BRA 1-64 CABLE CLAMP 64 30 0,120 83553
BRA 1-70 CABLE CLAMP 70 30 0,126 83545
BRA 1-76 CABLE CLAMP 76 30 0,132 83543
BRA 1-82 CABLE CLAMP 82 30 0,138 83541
BRA 1-88 CABLE CLAMP 88 30 0,145 83533
BRA 1-94 CABLE CLAMP 94 30 0,151 83531

BRA 1-100 CABLE CLAMP 100 30 0,159 83529

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



»» PIPING SYSTEMS

Description ‘Qﬂg}gg‘ %def
(9 25) Elbow 90° 0,130 98795
(9 42) Elbow 90° 0,260 98794
(9 25) Angled Elbow 45° 0,145 98793
(9 42) Angled Elbow 45° 0,530 98792
(@ 25) Pipe Fixing Crochet 0,015 98790
(@ 42) Pipe Fixing Crochet 0,030 98789
(@ 25) Pipe Joint Clamp 0,081 98788
(@ 42) Pipe Joint Clamp 0,134 98787
(@ 25) Plastic Pipe Mouth 0,130 98786
(@ 42) Plastic Pipe Mouth 0,260 98785
(@ 25) Inter Outlet Component 0,215 98782
(@ 42) Inter Outlet Component 0,400 98781
Fitting Component to Floor 0,370  98780P
Fitting Component to Wall 0,800  98791P
KO Busbar Fixing Component 0,495  98779P
KM Tray Clamp 0,600 98778
KM Busbar Fixing Component 0,370  98777P
UK Fixing Component to Cable Tray 0,040  98776P
(9 25) Flexible Sleeve 0,070 98775
(@ 42) Flexible Sleeve 0,155 98774

»» PIPING SYSTEMS

Description Weight %def
(9 25) Pipe 0,320 98797
(9 42) Pipe 0,490 98796
(9 25) Flexible Pipe 0,054 98784 KM tray
(@ 42) Flexible Pipe 0072 98783 clamp

g Fixingpart to
KM Busbar

Fixing
hoop
Fixing g E2
part to Plastic
KO Bushar pipe
mouth

Fixing fitting
to cable tray

ELEKTRIK

Fixing fitting
to cable tray

Pipe insert
Clamp

Covered cable tray

<. not perforated

Extension
modul
(Intermediary
extension
part)

hl

Plastic
pipe

mouthh

Wall
fixing
fitting

Flexible

Floor
fixing
fitting

plastic pipe

. Steel
Flexible dowel
sleeve

M Please indicate order code in your orders.
W Please contact us for special modules.



HOT DIP GALVANIZED

ELEKTRIK

»» UNIVERSAL SUPPORT FITTINGS
Hot Dip Galvanized (TS 914 EN 1SO 1461)

c T  Weight  Order

Description i | o || e Code \ :
US 1050 80 2 0,555 959508 L]
Us 1100 130 2 0,614 959518 L
US 1150 180 2 0,672 959528 ]
US 1200 230 2 0,730 959538 :
US 1250 280 2 0,788 959548 \
US 1300 330 2 0847 959558 )

130
/\
260
\ ICO' QO QOO QD SO
c \

»» UNIVERSAL SUPPORT FITTINGS
Hot Dip Galvanized (TS 914 EN 1S0 1461)

- c T  Weight  Order us
Description mm)  @m) (ko) Code
US 2050 80 2 0,248 959568
US 2100 130 2 0,307 959578
US 2150 180 2 0,365 959588
US 2200 230 2 0,425 959598
US 2250 280 2 0,484 959608
US 2300 330 2 0,543 959618
130
\ (ESLCOL00,00,00,00,00,00,00,00,
c \

M Please indicate order code in your orders.
B Please contact us for special modules. B Material weights can be variable +%10



HOT DIP GALVANIZED

ELEKTRIK

~—— 130 —
»» UNIVERSAL SUPPORT FITTINGS r—
Hot Dip Galvanized (TS 914 EN 1SO 1461)
- b T Weight Order
Description @m om (ka/po) Code
US 3300 380 2 0,602 95963S
US 3400 480 2 0,720 959648
US 3500 580 2 0,838 959658
US 3600 680 2 0,956 959668
US 3700 780 2 1,074 959678
US 3800 980 2

LY

»» UNIVERSAL SUPPORT FITTINGS
Hot Dip Galvanized (TS 914 EN 1SO 1461)

Description b T  Weight Order

(mm)  (mm)  (kg./pc) Code - /\

US 4100 100 2 0,354 95969S o
US 4200 200 2 0,472 959708 -

US 4300 300 2 0590 959718

US 4400 400 2 0,708 959728

US 4500 500 2 0,826 959738

\ ‘R 100 —
b

AT

H Please indicate order code in your orders.
W Please contact us for special modules. W Material weights can be variable = % 10




HOT DIP GALVANIZED

ELEKTRIK

»» UNIVERSAL SUPPORT FITTINGS
Hot Dip Galvanized (TS 914 EN IS0 1461)

a T  Weight  Order

Description mm om (kg/po) Code
US 5300 300 2 0,354 959748
US 5400 400 2 0,472 959758
US 5500 500 2 0,590 959768
US 5600 600 2 0,708 959778
US 5800 800 2 0,951 959788
US 5900 900 2 1,069 959798

H Please indicate order code in your orders.
W Please contact us for special modules. W Material weights can be variable = % 10

_



»» SAMPLE SUPPORT APPLICATIONS

M12x30 Bolt
M12 Nut
M12 Washer

IDY

Binrak

Spring
Traverse
Nut

IDD

ELEKTRIK

M12 Pull-off Dowel

M12 Nut I ‘
M12x30 Bolt I
M12 Nut
I STK Connection Part
I M10x30 Bolt
M10 Washer
I M10 Nut
1-80 Section I
TMP 7 Expansion Fitting
- -ﬂ-
S~ = IDT I
-,
< M12x30
Bolt IDD
L M12 Nut
TMP 6
S g9
X TR
M8x20 Q.
Bolt
M8 Nut
M8 washer

IDY

 F O o F o FF F R




ELEKTRIK TMPg
»» SAMPLE SUPPORT APPLICATIONS -

M6x12 Bolt
M6 Nut

TMP 8

4

w

M6x12 Bolt
M6 Nut

oy
|y
3
3
3
2
)
I

ASU 2A For KT Mounting;
It is suggested to use
e, single coupling unit for
— A dimension between 90 and 240.
"y Itis suggested to use
two (2) coupling units for
A dimension between 290 and 640.

Coupling

> W W W P W @ P P @ W P @

S V6x12 Bott
Coupling & M6 Nut
¢ Coupling
#
¢
]
&
»  ASU 2A




»» SAMPLE SUPPORT APPLICATIONS Steel Dowel

Extension
Unit
M8 / M10 Pull-off Dowel
M8 / M10 Extension Unit Threaded Rod
M8/ M10 Threaded Rod
M6x12 Bolt
Washer Nut
M10x30 Bolt
M10 Washer M8/ M10 Nut
M10 Spring Washer
M10 Nut

M10x30 Bolt

M10 Washer
M10 Spring Washer
M10 Nut




ASU 2A

Coupling

ELEKTRIK

»» SAMPLE SUPPORT APPLICATIONS

—
x




ELEKTRIK

»» SAMPLE SUPPORT APPLICATIONS

BINRAK

TMP 10

M12x30 Set of Bolts

IDY

IDT - N N N e

M10x30 Set of Bolts

TMP 10
M10x30 Set of Bolts




ELEKTRIK

»» SAMPLE SUPPORT APPLICATIONS

Beam
M8 Clamp

. M10Clamp

M8 Threaded Rod

Méx12 : .
Set of Bolts p AT 3

1 pcs M8/M10 Steel Dowel
1 pcs M8/M10 Extention Unit
1 pcs M8/M10 Threaded Rod

2 pcs M8/M10 Threaded Rod

2 pcs M6x12 Bold AT4 s 2 pcs M6x12 Bold

2 pcs M6 Washer Nut ; 2 pcs M6 Washer Nut
2 pcs M8/M10 Nut 4 pcs M8/M10 Nut
should be used. should be used.

2 pcs M10/M12 Threaded Rod

LPB e 2 pcs M6x12 Bold e o 1 pcs M8 Threaded Rod
i 2 pcs M6 Washer Nut A 2 pcs M6x12 Bold
4 pcs M10/M12 Nut i 2 pcs M6 Washer Nut
should be used. ” should be used.




ELEKTRIK

»» SAMPLE SUPPORT APPLICATIONS

M10x30

M10x30 Set of Bolts Set of Bo

IDK

M8x20 S
M8x20 Set of Bolts

DD

P2

M 10x30 Bolt M 10x30 Bolt
M 10 Nut M 10 Washer
M 10 Washer M 10 Nut

U A S R S U S S S U S



* Cable tray containing union holes may be produced according to

[+
=B
o «»
© o
..nlv. =
e 3
oo
g s :
2 & g
=
=
@
£
[=]
k7]
=
o
uf,
\ .
wﬂ
?,, i
(%) N\
= \
m f} (7]
—m =
o =]
- b =
- \
o \ S
o. . —
<< \ =l
= \ o
oc . <
o S o
=18 =3 oc
o S o
= s e m
z £c z
= m.. = =
= = wa 2
o A A
) [~
= A A
“ A A




»» SAMPLE SUPPORT APPLICATIONS

us

ELEKTRIK

M6 Extension

6 Steel Dowel

M6 Extension
Unit

M6 Threaded Rod



ELEKTRIK

»» DESIGN FORM

"asn o) abed siy} Adoos aseald

)

:aimeubis | 3

S

slea | 3

o

sweN | o

<

ON 193loid

199loud

w4

ON
fapuenp adAL way

S]] way




	143_sayfa_askı_kapak_tr
	Sayfa1

	144_sayfa_askı_uygulama_tr
	Sayfa1

	145_sayfa_01_içindekiler
	Sayfa1

	146_sayfa_02_askı
	Sayfa1

	147_sayfa_03_askı
	Sayfa1

	148_sayfa_04_askı
	Sayfa1

	149_sayfa_05_askı
	Sayfa1

	150_sayfa_06_askı
	Sayfa1

	151_sayfa_07_askı
	Sayfa1

	152_sayfa_08_askı
	Sayfa1

	153_sayfa_09_askı
	Sayfa1

	154_sayfa_10_askı
	Sayfa1

	155_sayfa_11_askı
	Sayfa1

	156_sayfa_12_askı
	Sayfa1

	157_sayfa_13_askı
	Sayfa1

	158_sayfa_14_askı
	Sayfa1

	159_sayfa_15_askı
	Sayfa1

	160_sayfa_16_askı
	Sayfa1

	161_sayfa_17_askı
	Sayfa1

	162_sayfa_18_askı
	Sayfa1

	163_sayfa_19_askı
	Sayfa1

	164_sayfa_20_askı
	Sayfa1

	165_sayfa_21_askı
	Sayfa1

	166_sayfa_22_askı
	Sayfa1

	167_sayfa_23_askı
	Sayfa1

	168_sayfa_24_askı
	Sayfa1

	169_sayfa_25_askı
	Sayfa1

	170_sayfa_26_askı
	Sayfa1

	171_sayfa_27_askı
	Sayfa1

	172_sayfa_28_askı
	Sayfa1

	173_sayfa_29_askı
	Sayfa1

	174_sayfa_30_askı
	Sayfa1

	175_sayfa_31_askı
	Sayfa1

	176_sayfa_32_askı
	Sayfa1

	177_sayfa_33_askı
	Sayfa1

	178_sayfa_34_askı
	Sayfa1

	179_sayfa_35_askı
	Sayfa1

	180_sayfa_36_askı
	Sayfa1

	181_sayfa_37_askı
	Sayfa1

	182_sayfa_38_askı
	Sayfa1

	183_sayfa_39_askı
	Sayfa1

	184_sayfa_40_askı
	Sayfa1

	185_sayfa_41_askı
	Sayfa1

	186_sayfa_42_askı
	Sayfa1

	187_sayfa_43_askı
	Sayfa1

	188_sayfa_44_askı
	Sayfa1

	189_sayfa_45_askı
	Sayfa1

	190_sayfa_46_askı
	Sayfa1

	191_sayfa_47_askı
	Sayfa1

	192_sayfa_48_askı
	Sayfa1

	193_sayfa_49_askı
	Sayfa1

	194_sayfa_50_askı
	Sayfa1


